
  

 

 

B.Com. DEGREE EXAMINATION —  

JUNE 2018. 

Second Year 

Bank Management 

BUSINESS STATISTICS 

Time : 3 hours Maximum marks : 75 

PART A — (3  5 = 15 marks) 

Answer any THREE questions. 

1. Explain the terms classification and tabulation. 

Point out their importance in statistical 

investigation. 

 ÁøP¨£kzxuÀ ©ØÖ® £mi¯À CkuÀ ÂÍUSP. 
¦ÒÎ°¯À B´ÂÀ AÁØÔß •UQ¯zxÁzøu 
TÖP. 

2. The weekly sales of a product A were recorded as 

given below : 

 150, 200, 125, 310, 330, 250, 225 

 Find : 

 (a) the mean and median 

 (b) standard deviation. 
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 J¸ ö£õ¸Ò A ß Áõµ¢÷uõÖ® ÂØ£øÚ R÷Ç 
öPõkUP¨£mkÒÍx 

 150, 200, 125, 310, 330, 250, 225 

 (A) \µõ\› ©ØÖ® |k{ø» 

 (B) vmh Â»UP® BQ¯øÁ PõsP. 

3. The following table relates to the tourist arrivals 

(in millions) during 2010 to 2016 in India. 

Year : 2010 2011 2012 2013 

Tourist arrivals : 18 20 23 25 

Year : 2014 2015 2016  

Tourist arrivals : 24 28 30  

 Fit a straight line trend by the method of least 

square and estimate the number of tourists that 

would arrive in the year 2018. 

 C¢v¯õÂØS 2010 ¼¸¢x 2016 Áøµ Á¢u 
£¯nºPÎß Á¸øP. R÷Ç öPõkUP¨£mkÒÍx. 

Bsk : 2010 2011 2012 2013 

£¯nº Á¸øP : 18 20 23 25 

Bsk : 2014 2015 2016  

£¯nº Á¸øP : 24 28 30  

 «a]Ö ÁºUP •øÓø¯ £¯ßkzv ÷|º÷Põmk 
{ø»ø© ö£õ¸zxP. ©ØÖ® 2018 ® Bsk Á¸® 
£¯nºPÎß GsoUøPø¯ ©v¨¤kP. 
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4. Compute Laspeyre’s and Paasche’s price index 

number for the year 2009 using the data given 

below : 

Commodity 2008 2009 

 Price Quantity Price Quantity

A 20 8 40 6 

B 50 10 6 5 

C 40 15 50 15 

D 20 2 20 25 

 RÌÁ¸® öuõS¨¦ Â£µ[PÒ öPõsk 2009 ® 
Bsiß ö»ì¤¯›ß ©ØÖ® £õè÷å°ß Âø» 
SÔ±möhsPøÍ PnUQkP. 

ö£õ¸Ò 2008 2009 

 Âø» AÍÄ Âø» AÍÄ

A 20 8 40 6 

B 50 10 6 5 

C 40 15 50 15 

D 20 2 20 25 

5. State the differences between correlation and 

regression. 

 JmkÓÄ öPÊÄUS®, öuõhº¦ ÷Põmk 
\©ß£õmiØS® EÒÍ ÷ÁÖ£õk GßÚ? 

PART B — (4  15 = 60 marks) 

Answer any FOUR questions. 

6. Explain the methods of collecting data. 

 ÂÁµ[PøÍa ÷\P›US® •øÓPøÍ¨ £ØÔ ÂÁ›. 
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7. The following table gives you the aptitude test 

scores and productivity indices of 10 workers 

selected at random. 

Aptitude Test (X) : 60 62 65 70 72 48

Productivity (Y) : 68 60 62 80 85 40

Aptitude Test (X) : 53 73 65 82   

Productivity (Y) : 52 62 60 81   

 Calculate the two regression equations and 

estimate the productivity index of a worker whose 

test score is 92? 

 R÷Ç öPõkUP¨£mkÒÍ AmhÁøn \©Áõ´¨¦ 

•øÓ°À ÷uº¢öukUP¨£mh 10 £o¯õÍºPÎß 

vÓø© ÷uºÄ ©v¨ö£sPøÍ²®, EØ£zv vÓß 

SÔ±mk GsPøÍ²® u¸QÓx. 

vÓø© ÷uºÄ ©v¨ö£s (X) : 60 62 65 70 72 48

EØ£zv vÓß SÔ±mk Gs (Y) : 68 60 62 80 85 40

vÓø© ÷uºÄ ©v¨ö£s (X) : 53 73 65 82   

EØ£zv vÓß SÔ±mk Gs (Y) : 52 62 60 81   

 Cµsk öuõhº¦U÷Põmk \©ß£õkPøÍ PnUQmk, 

92 vÓø© ÷uºÄ ©v¨ö£s öPõsh J¸ £o¯õÍ›ß 

EØ£zv vÓß SÔ±mk GsønU PõsP. 
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8. Calculate Karl Pearson’s coefficient of correlation. 

Income (Rs) : 230 560 490 360

Expenses  (Rs) : 200 440 350 250

Income (Rs) : 270 480 580 600

Expenses  (Rs) : 240 300 420 500

 PõºÀ ¤¯º\Ûß JmkÓÄU öPÊøÁU PnUQkP. 

Á¸©õÚ® (¹) : 230 560 490 360

ö\»ÂÚ® (¹) : 200 440 350 250

Á¸©õÚ® (¹) : 270 480 580 600

ö\»ÂÚ® (¹) : 240 300 420 500

9. Write short notes on : 

 (a) Limitations of statistics  

 (b) Advantages of time series analysis  

 (c) Uses of index numbers. 

 ]Ö SÔ¨¦ ÁøµP. 

 (A) ¦ÒÎ°¯¼ß SøÓ£õkPÒ 

 (B) Põ»z öuõhº £S¨£õ´Âß £»ßPÒ 

 (C) SÔ±möhsPÎß £¯ßPÒ. 
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10. Compute the seasonal index using the simple 

average method. 

 \õuõµn \µõ\› •øÓø¯ £¯ß£kzv £¸Á 
SÔ±möhsøn Psk¤i. 

Year  I II III IV 

2004 3.5 3.9 3.4 3.6

2005 3.5 4.1 3.7 4.0

2006 3.5 3.9 3.7 4.2

2007 4.0 4.6 3.8 4.5

2008 4.1 4.4 4.2 4.5

11. 10 Competitors in a beauty contest are ranked by 

3 judges. 

I Judge : 1 6 5 10 3 2 4 9 7 8

II Judge : 3 5 8 4 7 10 2 1 6 9

III Judge : 6 4 9 8 1 2 3 10 5 7

 Use the rank correlation coefficient to determine 

which pair of judges has the nearest approach to 

common tastes in beauty. 

 J¸ AÇQ¨ ÷£õmi°À 10 ÷£õmi¯õÍºPøÍ  
3 |kÁºPÒ uµ{ø»¨£kzxQÓõºPÒ. 

•uÀ |kÁº: 1 6 5 10 3 2 4 9 7 8

Cµshõ® |kÁº: 3 5 8 4 7 10 2 1 6 9

‰ßÓõ® |kÁº: 6 4 9 8 1 2 3 10 5 7
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 uµ{ø» JmkÓÄU öPÊÂß EuÂUöPõsk G¢u   
2 |kÁºPÒ  AÇQß µ\øÚ°À ö|¸[Q¯ AqS 
•øÓø¯ öPõskÒÍÚº Gß£øu wº©õÛUP. 

12. Calculate Bowley’s coefficient of skewness. 

No. of children per family: 0 1 2 3 4 5 6

No of families : 7 10 16 25 18 11 8

 ö£Í¼°ß ÷PõmhU öPÊÂøÚU PnUQkP. 
SÇ¢øuPÎß GsoUøP 

(Sk®£zvÀ): 
0 1 2 3 4 5 6 

Sk®£zvß GsoUøP: 7 10 16 25 18 11 8 

———————— 
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